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1.

PRE FINAL ASSESSMENT EXAMINATION, 2023-24

DLIECS

Sub : General Mathematics
Class : X
Full Marks : 100
The figures in the margin indicate full marks for the question.

SECTION - A

(Each question carries 1 Mark) (2ifST01 o< SF01S 1)

1.

3]

LCM and HCF of two numbers are 9696 and 4 then the
product of the number -

IO RYR FAALY OF 47T 9696 WE 4 TTH FAT o
SROEH -

a) 9696 b) 19392
237 is- (237 =) -
a)  An integer (401 e HY)

c) 4848 d) 387841

\yt-'/ Rational Number (#F%T <)

¢) Natural Number (Ireiiss I
d) Irratonal Number (i Rrxw 321)

. If a and B are zeros of the polynomial p(x) = x* + x + 1

1 1
thena+B.

™ o W= B I p(x) = x7 + x + 1 T 5B F CorY
1,1 i

a) O b) 1 c) -1 d) 2

I 2x +3y=8 and 6x —~ 3y = O then x + y -

7If“2x+3y=8“6x—3y=0(\?€5x+y-
a) 8 b) 5 c)3 d) 9
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8. If roots of the equation 2x2 + kx + 3 =

- 30® term of the AP 4, 7, 10,

-2

5. The sum of digits of a two digit numbner is 9 if 27 is

added to it then it gets reversed. The number is -

o1 SFRMB et GO wT WOR @I 9 | I FAYIBA
TS 27 (15 341 T (ST FALAIO! GBI A, FIATCH! -

a) 36 b)72 o6  d) 25

- The pair of equation 6x -3y + 10=0and 2x -y +9 =0

graphically represent lines which are -

6X -3y + I0=0W*F2x -y + 9 = 0 FNA (AR AR>S

cal Paralled (areie)

b) Coincident (if& )
c) Intersecting at (6, 3) ((6, 3) Re =B =)
d) Intersecting at (2, -1) (2, -1) *Fj® IBHH 341

- Which of the following is not a quadratic equation -

S (FINCH! 951 faure sifieaet w3y -
a) x=2+1=2x-3 b) (x+2)=x3-4

) x2x+3)=x*+1 d) X=2)(x+ 1) =(x - I)(x + 3)

0 are real and equal
then value of k.
uﬁaﬁwzx%nw:oawmwmm
kI o= -

a) +2y6 b) £ 6y2 c)t6 dt3

4,7, 10, ... AP (B1F 30 ©F % -
a) 97 b) 77 c) =77 d) 91
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10. The sum of first 20 even number -
AT 20 B o AT (AT -
a) 420 b)240 ¢)400 d) 200
11. Distance between the points (-3, 4) and (5, 0) -
(-3, 4) 9= (5, 0) = 13y -
a) 445 unit (&) b) 10 unit (GFF)
c) 5v2 unit (9FF) d) 6 unit (GFF)
12. Value of 22130 (3 31

a ‘% b) > c)V3 d)-
130 Al are similar.

SN ——— A |

a) Rectangle (ST9)

b), Isosceles Triangle (FTwfZare fage)
Circle (§€)

d) Scalence Triangle (Raware fage)

14. If length of tangent drawn to a circle from a point which
is 5 cm away from centre is 4 cm then radius of circle.
W G (™ @ S cm Sirew Rqg o[ Sl ~opfeq o
4 cm R (ST JEEIR IJP -
a)3cm b)lcm c)4cm d)9cm

15. Circumference of a circle with diameter 21 cm.

21 cm I RFR 3@ 9orR R -
a) 62 cm b) 64 cm
¢) 66 cm d) 68 cm
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16. If numerical difference of circumference and area of a
circle is zero then the diameter of the circle.
T @Bt R ARR e PR ART T N G o
THWR I - ,
a) 2 unit 2 «T3) b) 7 unit (7 &IF)
) 4 unit (4 €3F) d) ® unit (x 9FF)
17. Total surface area of new cuboid formed by joining two
cubes of edge 10 cm.
9Bl 10.cm IS TS TN, 515 A TG TSR oy
T3 poeifer - -
a) 500 cm® b) 1000 cm?® ¢) 250 cm®  d) 600 cm?
18. Relation between mean, median and mode -
TG, NG & @R NS FE -
a) Mode = 2 Median — 3 Mean (I = 2 343t — 3 TNY)
b) Mode = Median — 2 Mean (I%® = Y - 2 [qiy)
¢) Mode = 2 Median — Mean (I%1® = 2 Wl — W)
d) Mode = 3 Median ~ 2 Mean (3@ = 3 Sl — 2 i)
19. A number is selected randomly from numbers 1, 2, 3, 4,
.......... 10. The probablity of getting a multiple of 3.

1,2, 3,4, ... 10 FRYIIAA = TSR abt 7Y
IR A T MY 3 7 offios @R TSR -
3 3 9 1

20. Here is part of graph of polynomial. Which of the
following do not have zero.

FIES oM (714 AT T (FIRRIRT o e -

PT.O.
https://www.assamboard.com



-5

e

(1) (iii) (iv)
a) (i) and (%) (ii))  b) (i) and (T=) (iv)
c) only (&) (iii) d) (ii) and (=) (iv)
21. If A, B, C are interior angles of AABC then sin (B +C)

% A, B, C frgs ABC ¥ W@t 70 (ot sin (B55)

a) sin —‘;— b) cos —‘%— c) — sin -%— d) — cos —%—
22. In AABC and ADEF, 28 = B, that will be similar if-
AABC =% ADEF & 2B = BC 3dw s 24 ot -
a) £ZB = LE b) ZA = £D
c) LB = £D d) LA = £LF
23. A parallelogram circumscribing a circle is a -
@Bt gE& ~opf TR 4T HFAERECT! Ol -
a) Rectangle (S¥) b) Trapezium (CG=&AM)
¢) Rhombus (@®) d) Kite (f6=t)
24. Which of the following is a factor of x? — x — 2.
SeR (FFO1 X2 — x — 2 TeAWS -
a) x+2 b)x-2 ¢)x+3 d)yx-3
25. Mid point of (2, — 5) and (-2, 9)
(2, - 5) T (1, 9) WM -

a) (0,4) b)(0,2) c)(4 0 d)(Q20
P.T.O.
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26. Curved surface area of a hemisphere of radius r -
r TFINTE SEstered I e -
a) m? by o) 3n’  d)4m
27. Class mark of the class 120 - 150 is -
120 - 150 o =T -
a) 120 b) 130 c) 135 d) 150
28. For an event E, p(E) + p(ﬁ) = x, then tha value of
3-—x%is -
G Bt o1 E I A1 p(E) + p(E) = x (LI 3 — x> I AW
2% -
a) -2 b) 2 c)l d)-1
29. Which of the following is a prime factor of 3600.
T E (6! 3600 ¥ €51 CTfTe TesAws ~
a) 7 b) 11 c)yl d) 31
30. The point on y-axis which is equidistant from (0, —1) and
(0, 5) bhttps://www.assamboard.com
(0, —1) W% (0, 5) R 24 T A/ y w4 84« RqTor-
a) (O, 2) by 2,0 €)3,0 d)©, 3)
31. Look at the numbers shown below -
T MAIINE 77 91 -
@ -0.5 (i) 0.00001 (i) L (iv) 1
(v) 1.0001 (vi) 99%

Which of the above numbers represent probabitities of
events 7
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G (PHER R (@I 61 oS TSI I -
a) Only (i) and (iil) (S (i) W= (iii))
b) Only (i) (ii) (iii) and (iv) () (ii) (iii) ST i+ (iv) )
c) Only (i) (iii) (iv) and (v) ((ii) (iii) (iv) ST SE (v))
d) Only (i) (iii) (iv) and (vi) (== (ii) (iii) (v) == (vi))
32. Zeros of the polynomial x? + (a + b)x + ab -
2% x% + (a + b)x + ab I R (& -
a) a, b b) —a, —-b c)a, O d) a, 1
33. If for the polynomial ax® + bx + c the sum and product
of zeros are equal then.
W T2 ax? + bx + ¢ I AR TN N SF A (ST~
a) b+c=0 b)ybc=0 c)b—c=0 d)b=c
34. Linear pair equation a x + b,y + ¢, = 0 and
a,x+by+c,= 0 will be inconsistent.
taRs AMTER™ TR ax +by +¢, =0F
ax+b2y+c —Oﬂﬁxﬂﬁi’aﬂﬁ—

o, b c
2y b= pl=gt
a) dg _E; ) b2 C2
a < _
C) -a-z- -5—; # T d) albl = 32b2

35. Discriminant for the equation y2x2 + 7x + 5y2 =10
TRV 2x2 + Tx + 5V 2 = 0 3 AR R -
a) 10 b9 o7 dO

36. Missing terms for the AP ,5%, 7%

,5%, 7% AP (DR ¥ oW R -

a) 1,73 b) 3, 97 c) 3,73 d) 1, 97
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37. Distance of the point (2a, 2b) from origin -

(2a, 2b) @ IR #@ A9 -
a) Yya’ + b’ b) — Va’ + b’
c) 2va  +b- d)—2w}a§+b§

38. Value of tan 48° tand2°.
tan 48° tan42%3 W -
a) 0 b) 1 c) 2 d) 3

39. Which of the following measures of sides represents a
right angled triangle.
TR (FINCO! ANCITT farge e 2T -
a) 7cm, Scm, 24cm b) 34cm, 30cm, 16cm
¢) 4cm, 3cm, 7cm d) 8cm, 12cm, l4cm

40. In how many points does a tangent intersect a circle -
qGTe *oixfra 3ad Fatt fars (= s -
a) 1 b2 o3 d4

41. Radius of a circle whose area is equal to the sum of areas
of circles having radii 6cm and 8cm
6cm S% 8cm JHETS I@ YO FIfeR SufBe 5w Fife o4
3ER TS -
a) l4cm b) 12cm c) 10cm d) 7cm

42. Number of cubes with edge 2cm required to from a
cuboid of dimension 8cm x 4cm x 3cm.

8cm x 4cm x 3cm (A TSI T IELH ATEH 2
2cm (EIRE G33F FHA2Y] -

a) 42 b) 43 c) 45 d) 48
\2- 1% LS 1<
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43. If mean of 3, x, 4, 5 is 5 then value of x.
W 3, x,4, 5 AW 5 (o x T TN -
a) 7 b) 8 c)9 d) 10
44. Probablity of getting an orange flavoured candy from a
packet of lemon flavoured candies.
€D (A AR FAA (72T o[ TeN TWA WA (AR
TR -
)1 BHo o5 d 3
45. Least square number divisible by 4, 9 and 10.
4,9 9% 10 (I Rerey wiHiEers 7@ offsf 7eis! -
a) 180 b) 900 c) 450 d) 500
SECTION - B
(Each question carries 2 Mark) (&fS(5! emid Jeiess 2)
Prove that ; is irrational.
2 T4 7 T% AR |
Prove that (250€ &1 (X) :
(sinA + cosecA)? + (CosA + secA)” = 7 + tan’A + cot?A.
If cos2A = sin(A + 15°) then find A.
T cos2A = sin(A + 15%) cITs A fefa w1
One card is drawn from a well shuffled deck of 52 cards. Find
the probability of getting a -
a) Jack of red colour  b) a spade.
ST FEEERT 52 I S5O IIGI #7134 IS Bife -
a) <51 76! 76T (SNEAT  b) B THHF (A TSRS Sfenan |
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50. Factorise (Sesima {3mwe 341) :

S1.

52.

53.

54.

55.

E+m) - (- m)
SECTION - C
(Each question carries 3 Mark) (S5 23 FIRS 3)
Solve 3x + 4y = 10 and 2x — 2y = 2 and hence find value of
m for which y = m + x.
3% + 4y = 10 TR 2x — 2y = 2 AN {51 WM 34 W& m
IR FA WS y = m + x W
The sum of reciprocals of Rehman’s ages (in years) 5 years
ago and 3 years from now in "IT Find his present age.
T 5 T TR AW 3 I Pled @ AfFNa Q@swest -
(oG ISR IFH Bfenadl |
Find the 10th term from the last term of AP 12, 15, I8, ..........
99.

12, 15, 18, .......... 99 FAI ASGBI CRIPIGT 4 10 &
*Weo! Sferadt |
Find the area of the quadrilateral whose vertices taken in

order are (-5, 7), (-4, -5). (=1, -6) and (4, 5).

T (=5, 7), (4, -5), (1, —6) TE (4, 5) [y S/ G FAS
R ogged AARY 20 G’ voyettr e Sfaeat |

D is a point on side BC of a triangle ABC such that ZADC
= ZBAC. Show tha CA? = CB.CD.

AABC 3 BC 31%] 853S D @bl % T8 LADC = ZBAC
Y&l @ CA? = CB.CD.

PT.O.
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57.

A chord of circle of radius 15cm subtends an angle (47 at the

centre. Find area of corresponding minor and major scgmeas
(Use T = 3.14, y3 = 1.73)

15cm IR I8 B qTm TR FHS (0" (B BA L TIOH
TS (T % T 3803 e B a1 (AREA s x = 314
W* {3 =1.73)

If the median of distribution given below in 525 then find x
and y.

2 Tor RS W 525 (U08 x S y 1 9 Ten -
"Class interval (7 ®%R®@) | Frequency (JH4<aAS!)

0- 100 2
100 - 200

200 - 300

300 - 400 12
400 - 500 17
500 - 600 20
600 - 700 y
700 - 800 9
800 - 900 7
900 - 1000 4

Total (¥9) = 100

58. Prove that opposite sides of quadrilateral circumsenbing a

circle subtends supplementary angles at the centre of the
circle.
uTe A (Y 451 6@ o 24 4@ aB dggaa fawdhe awcara
JEOR (FHT AP H 74P (I 84

rT.O.
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59

60.

61.

-12 -

A solid iron pole consists of a cylinder of height 220 cm ap4
diameter 24 cm, which is surmounted by another cylinder of
height 60 cm and radius 8 cm. Find the mass of the pole given
that 1 cm® of iron has approximately 8 g man.
(Use t = 3.14)
€1 (5151 (EIRE %G1 220 cm SH©! W% 24 cm o APy
(A %3 T @49 ©i7 60 cm Tl W 8 cm IPNRG
O Bl ([ WgS IR Wz | BIEE o1 e 1 R g
1 99 (2 ffl. (57l &9 &1 8 & (= 3.14 IR F9)
SECTION - D
(Each question carries 4 Mark) (&fS(5! 9 JE01 4)
If two zeroes of the polynomial x* + x* — 9x% — 3x + 18 are
2 and -3 then find other zeroes.

W o x4 x% - 0x? - 3x 4 18 I 451 =+ 2 =% -3 T (%
IPRR 2= el 1)
Draw a triangle ABC with side BC = 7cm, #B = 45° £A =

105° then construct a triangle whose sides are —%- times the
corresponding sides of AABC.

- — 4<0
BC =T7cm, £B = 45°, ZA = 105° 7% ABC o1 fogs i

o feizs ot }
4 g, WWWWMC‘W?{W

62. Internal Assessment - 10 Marks

ok sk ok
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